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Question | Question . . Previous D&
Sr.No Id Description Question Body Options Correct Correct
riptt Option Option
31985:Celsius / dfcqad ,
1 2998 Q01_DGT_May19_ W | SI unit of temperature is:- 31986:Fahrenheit / q§|’i?|'€.'l'$€ ! 31987
sC2 YT BT ST HHE T2 - 31987:Kelvin / &fea
31988:Rankine / Y&rsT ,
A 3 tonne load is lifted with 82039:10500 Joule / 10500 3o,
acceleration of 2 m/secz.
Work done in first 1.5 second
) Joere | QO1_DGT_NOVIS_W | = op 3 oo e | 82040:11500 Joule / 11500 S, oo
SC2_M Pr 2 HeX/AHS2 & ca0T & AT
T ) T 1.5 8 3 o 82041:12500 Joule / 12500 3o,
= 82042:13500 Joule / 13500 3¢,
31989:sin A,
Convert 30°C into
: 31990:86°F,
3 7999 gg;_DGT_Male_W °F, 30°TfeaIT & BRATSE H 31990
| 31991:108°F,
31992:172°F,
A motor receives 4 k\'N'and 82043:54.600/0,
delivers 4 H.P. Its efficiency = 82044 -64.60%
4 20530 Q02_DGT_NOV18 W .U% AT 4 kw U@ L 9, 82045
g & gaTdT = | 82046:84.60%,
31993:0.375,
Convert 3/8 into decimal
5 8000 S(C)I;_DGT_Mayw_W fraction. 3/8 @ gersrera e & | 31994:0.357, 31993
Srerc] 31995:0.537,
31996:0.337,
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6 82139:Thermocouple / JHTHU,
What type of temperature | 82140: Thermistor / TR,
20554 Q03_DGT_NOV18_W measurlng instrument is s oyvn in
METALA ] figure below?er few ar for &t v 82141:Pyrometer / W, 82139
e YR T ATUATA FATUA arell 3YhoT
T —— T feramarm arar % 82142:Resistance temperature
“Hot™ Junction “CDI:" Junction deteCtor / QI !
31997:0.053,
Find the square root of .
7 8001 Q04_DGT_May19_W | 0.00002809. 0.00002809 @ g Fel 31998:0.0053, 31998
SC2 el 31999:0.53,
32000:0.00053,
82051:357. C,
M boils at Rea | 82052:3370 C,
8 20532 | J03-PGT_NOVIS.W eretry bots @ . ° 82051
R STl el 82053:317, C,
82054:297, C,
An alloy is made of tin and lead in .
the ratio of 3 : 2. The cost of tin 32001:Rs 546 / 546 T,
and lead is Rs 50 and Rs 20 per kg. .
respectively. What is the cost of 12 32002:Rs 465 / 465 T,
o 6002 | Q05 _DGT May1g w | kg of alloy? v B uig et S | 35003:Rs 456 / 456 TUT, 32003
sc2 ¥ 3: 2 F IGUd H g gl ol T AR
T 1 HrAad HALT: 50 T 3R 20
T U it $1 12 Reottoar Ty arg | 32004:Rs 654 / 654 4T,
&Y ST FIT §?
If a right circular cone is cut by an 82055:Circle / R
inclined plane, the cut surface is:- 82056:Ellipse / 31%*’51?,
10 20533 | So-PCT-NOVISW | 21 e Trge Fae et ot e foress : 82056
— T & PIeT ST, &t HIEY TS TR wft 82057:Parabola / a1|§||(_’||,
| 82058:Hyperbola / suRaler,
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32005:1764 sq. m / 1764 adf
The length and breadth of a e
rectangular piece of land are in the /
ratio of 6 : 4. If breadth is 28 m, A
Q06_DGT_May19_ W what is the area of the piece of 32006:784 sq. m / 784 T ’
a
118003 | gy T T | land? v SRR H@ S SEEE [35007:1176 sq. m / 1176 @it 32007
wfars 3R AisrS 6: 4 F Igud H ¥ IS -
Tlets 28 e ¥, a HfH & s @1 !
S T &2 32008:1568 sq. m / 1568 &
e,
The part of a circle between any 82059:Segment / ¥,
two points on the periphery of a
Q06_DGT_NOV18_W circle is called Sorel 82060:Sector / AT,
12 20534 o 82059
sc2 Tt 1 R ox fpelt off &Y figat & 82061:Tangent / 33t
T TH BT AT BEeTdl &
| 82062:Arc / 31T,
32009:1t does not contain iron /
ST oler A8 elaT &,
32010:Its melting point is
comparatively low / 39&T ITellldh
Which stat ti t t
s lsos | QU7DGT_May1o W | siout o momfermous metaiose trg | ST £ 8 P SIE o1t
SC2_M 5 ot 2 e T e T = B 32011:1It is magnetic / I JFah
®,
32012:1It is more resistant to
corrosion / Ig 39T 9T & forw
3P gfaeh ¥,
The resistance of a 1.5 m long wire )
is 50 Q. Calculate its diameter, if its 82063:0.13 mm / 0.13 ’@gﬂ,
specific resistance is 0.45 Q
14 50535 Q07_DGT_NOV18 W | mm2/m. T 1.5 &l ot ar &1 ufadry 82064:0.17 mm / 0.17 f&a, 82063
=CeM 50 Q ¥ g8% & H IO A, A | 85065:0.19 mm / 0.19 B,
3H & TR Uiy 0.45 Q fHaf2/a
a 82066:0.21 mm / 0.21 34,
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32013:Lead and chromium / @ &r
3R ;AT
Nichrome is widely used as
resistance wire for electrical 32014:Tin and copper / fea 3R
appliances. It contains:- faselr & :
Q08_DGT_May19 W GIEI
15 8005 sc2 M Y- 3URUT & oIt gfeRiy dR & ¥9 & ’ 32016
- TSI &7 TS T Y STAT R 32015:Chromium and copper /
e &) s A - pifdger 3R amr,
32016:Nickel and Chromium /
et 3R wifeaa
82067:Henry / &4,
The unit of capacitance is o :
6 50536 Sgg_DGT_NO\/lg_W B @ zs 82068:Siemens / HIHY, 82069
&l 82069:Farad / B8,
82070:Weber / I,
32017:Brittle / 34'{1? ,
. 8006 Q09_DGT_May19_w | Grey cast iron is:- YER TordT areT 32018:Ductile / 7, 32017
SC2 T | 32019:Malleable / 3maTday,
32020:Tough / &3,
82071:Lemon squeezer / Aig
. ) i?lalsé dTel,
Which of these is an example of
18 20537 | Q20-PCT-NOVISW | lever of first order?ger 3f 4 Wl @ | 82072:Cutting plier / HfET WIRR, | 82072
MR & EE JET T ST &7 82073:Fire tongs / BRR T,
82074:Nut cracker / & tha,
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32021:IHP = BHP + Losses /
3meuadr = diegdr + @fe
32022:IHP = BHP—Losses /
8007 010.DGT May1o. W The relationship between BHP and m = diegdy - @fa
_ _Maylo_ i . drogd
19 SC2 M Ay N [32023:1HP + BHP = Losses / | 32021
' 3T 4+ fivad = a1y,
32024:IHP-BHP = 2 x Losses /
STy - dvady = 2 x @f
82143:Booster gear / ¥ TR,
In figure given below, gear 'B' is
82144:Extra gear / 31faf= =R,
20 20555 Q10 DGT Novig w | called 2 A e e ° 82146
SC2 T 3 =R 'B' &t w& | 82145:Supplementary gear / &
ST firr,
82146:1dler gear / 38R IRR,
If an object of mass m is moving 32025:m x v,
with a velocity of v, then what is its
21 8008 Q11_DGT_May19_W | kinetic energy? 3Jf¢ m gcgala il HIg 32026:2 x m X vz, 32027
SC2 TEG v AN S WY A A I §, ar sah | 32027:%2 X m X ve,
arferet Faft a7 &2 32028:% x m x vz,
The difference in diameter of a 82079:Head / %‘5",
pulley at the centre and at the edge ; F5aT
22 20539 Q11_DGT_NOV18_W | is called T Yol & g 82080:Crown / ! 82080
sc2M 3R BRIy W e 3 31 82081 :Tilt / Zrd,
FE & 82082:Peak / AR,
Q12_DGT_May19_W | Find the horsepower of an engine if | 32029:106 ,
SC2_M torque = 40 kg metre, and rpm = 32030:212
23 8009 > 3800.5?;\_:!3'3?[?7?5”3?3!1?37%3% 32031159 ! 32030
b ‘ e = 40 el 3irex, 3R IR = 1159,
3800. 32032:424 ,

www.kinsindustries.com




DGT WSC Paper - 2

) 82083:1,
Solve - (cos 8 + sin 8)2 + (cos 6 -
>4 20540 Ség_DGT_NOV18_W s!n 0)2 = %T»ra»“\r —Ecos 0 + 82084:2, 82084
sin 6)2 -Ii- (cos B -sin 6)2 = 82085:3,
82086:4,
15 ampere current is flowing 32033:1.50 kw / 1.50 forarare,
through a resistance of 10 ohm.
Power consumed = 32034:2.25 kw / 2.25 frarare,
25 8010 3L>-DeT May1s. W . 15 THdRR Rrgq aTw 32034
= | 32036:2.50 kw / 2.50 fereltare,
82087:1 N/ mmz,
In units of pressure, 1 Pascal =
- 82088:1 N ,
26 20541 | JL-PET-NOVISW YRR Y gepreAt H, 1 / cm 82089
- UrEhd = | 82089:1 N / mz,
82090:10 N / mz,
32037:Ampere / TFURR ,
EMF is measured in the units of
32038:0hm / 301 ,
27 8011 Ql4 DGT Mayld W EMFa@# / 32040
32040:Volt / afeT ,
82091:5.85 kg / cm2 / 5.85 fehaTT.
A hydraulic jack has to support 2 / Ga2,
tonne load. If the diameter of ram
of the jack is 180 mm, the pressure | 82092:7.85 kg / cmz / 7.85 fehar.
of hydraulic oil = . Th / I
Q14_DGT_NOV18_W r
28 20542 EE3Ifoieh Steh &Y 2 T 9K ot ¥ I 82092
sC2 3 :
St % Yo7 1 ST 180 PR E, A 82093:9.85 kg / cm2 / 9.85 Tpar.
EISaISiel ol T &aTd = / Qa2
| 82094:11.85kg/cm2/ 11.85
fpar. / |alY2,
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Q15 _DGT_Mayl19 W

Which of these is not an example of
reducing losses due to friction? 331

32041:Making surfaces smoother
/ Gde Rt gerar ,

32042:Using lubricants / &g
T SUINT AT ,

32043:Changing rolling friction to

29 8012 SC2_M A e @1 Tfor & PR gwEE A & | sliding friction / QST T¥OT @ 32043
A T TH ST A &2 RegrereT YT & FeerT
32044:Changing sliding friction
to rolling friction / frgereT adur i
AferT agur F TEerT
82095:Nickel and aluminium /
fAder 3R Teggfaga,
82096:Nickel and copper / A&
Monel metal contai .
30 20543 Qis_peT Novisw | c?;ggsmﬁ 3R T, 82096
SC2_M o &1 82097:Nickel and chromium /
Awer 3R wifeaa,
82098:Nickel and zinc / @& 3k
STEAT,
A box of weight W rests on a plane .
inclined at 30° . The component of 32045:0.50 W/ 0.50 are,
weight that acts parallel to the 32046:0.87 W / 0.87 @I
Q16_DGT_May19_W | inclined plane is:-W T3l &l Ueh aFg !
31 8013 . 32045
sC2_M 30 © W T g waw W@ ¥ s | 32047:W /AT,
FC S I 9 FAE B WAR D | 350481 5W / 1.5 ae,
YT & TE B -
82099:Tin / fe=,
Galvanized iron is coated with 82100:Lead / ¥
32 20544 gég—DGT—Novw—W NCTAGSS A : — 82101
ar Fe A smary) | 82101:Zinc / T3,

82102:Copper / ddT,

www.kinsindustries.com




DGT WSC Paper - 2

32049:Increase / 9¢3T ,
An empty box is slid on a floor. If 32050:Decrease / €M ,
the box is filled, the coefficient of ) -
17 DGT Mavio W kinetic friction between the box and 32051:Remain the same / §ATA
33 8014 SCZ_M — Y= the floor will:- T wrell giert BE W | AT 32051
TG ST | A aied o T, F“W 32052:Depends on the weight of
3R B & e A TP MB - | the filled box / HY AT & HR W
AR P g,
The floor area for a pedestal grinder 82103:294100 dmz,
is 2941 cm2. How much is it in .
34 20545 gg_DGT_NOVls_W o o 1 e 2;18::3344110;;12' 82105
2941 {32 &1 T& dm2 # fordar grem? 82106:0.2941 dmz,
A 5 cm cube is cut into as many 1 e
cm cubes as possible. What is the 32053:1:06,
ratio of surface area of larger cube
to that of the sum of surface areas 32054:1:05,
35 8015 g(l:g_laGT_Mayw_W of the smaller cubes? 5 @l & & & 32054
- JUTENE 1 A & T F Prer S B 32055:1:25,
BIC Ul & Fle &1 & T & 3T a3
e % TeTE 8 § o &2 32056:1:50,
82107:Degree / fZ4f,
The supplementary SI unit of plane 82108:Minute ﬁFFc,",
36 20546 Q18_DGT_NOV18_W | angle is .ColeT IuT T / 82109
SC2_M . ;
82110:Second / ¥&s,
If 'a' is the side of a regular 32057:1.6 az,
hexagon, its area = . afg a .
Q19_DGT_Mayl19_W 32058:2.6 a:,
37 8016 SC2 e fAAfAT e Fr e &, aF sadT ) 32058
32059:3.6 az,
&Th =
32060:4.6 az,
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A piece of metal weighs 6.5 kgf in .
air and 3.5 kgf when immersed in 82111:3,
water. Its specific gravity =
82112:3.5,
38 20547 gésza_DGT_Novw_W : uzﬁmgaxgm—graﬂw 82114
# a1 6.5 kgf & 3R Trel 7 g@a W 82113:3.166,
3.5 kafl 50 alw T = | 82114:2.166,
32061:899728 cms / 899728
The base diameter of a bucket is 98 AUSE !
cm; rim diameter 126 cm; height 32062:987928 cmcms / 987928
100 cm. What is its volume? T& IATCMSs
Q20_DGT_May19_W /
S e Y el 3 U 1 < 98 WM & KA 1735063:999728 cmems / 999728 | o0
BT TG 126 TY; 915 100 T Jaficms
3 T 32064:989728 cmcms / 989728
Jaficms
82115:Reflex angle / Rueilad
An angle which is more than 180°, aﬁUT/
but less than 360° is called .
40 20548 Q20_DGT_NOV18_W .Teh I0T S 180° & 82116:Acute angle / =3 T, 82115
SC2_M 3R g 3600 A @ @, a weerar | 82117:0btuse angle / 3icegd
el PIvT,
82118:Straight angle / @uT &I,
32065:Zero / YT,
32066:1
Q21_DGT_Mayl9 W | . B '
41 8018 SC2 sin2 6 (1 + cot2 B) = 32067:2, 32066
32068:Minus 1 / ASAT 1,
82119:(i) 41 (ii) 1,
If (@ + b) =9 and ab = 20; what is e "
Q21_DGT_Novig_w | the value of (i) a2 + b2 and (i) a - 82120:(i) 20 (ii) 1,
42 20549 SCZ_ - - b? afg (a+b)=9 3R ab = 20; L/ .. 82119
) 82121:(i) 41 (i) 9,
0T Y (i) a2 + b2 and (i) a - b?
82122:(i) 20 (ii) 9,
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32069:sin A,
43 8019 Sé;—DGT—Maylg—W (1_cos 2 A) + sin 2A = 32070:cos A, 32071
32071:tan A,
32072:cot A,
A solid cylinder of radius 14 cm and .
height 21 cm is melted and cast 82123:52,
into spherical balls of radius 3.5
cm. Number of balls = 82124:62,
Q22_DGT_NOVI8 W | .U arF ffeisT o g«
44 20550 82125
SC2_M 14 {3 3R Far$ 21 QN ¥ =@ Rwer | 82125:72,
BT TMATPR dict H STell IR &1 IS afel
&1 IeTH 3.5 JN &, A aict dr FEAr 82126:82,
|
32073:Force x Area / 9df x &1,
a5 8020 gég_DGT_Maylg_W The r;I,e: for pressure is:- &ard &7 32074:Force / Area / a1 / &7, 32074
T T 32075:Force + Area / dol+8&17 ,
32076:Force—Area / -89 ,
82127:143.9 cm2 / 143.9 &4,
Find the area of a regular octagon,
S 82128:153.9 cm2 / 153.9 34,
i Joss1 Q23_DGT_NOV18_W whose side = 6 cm.‘wﬁ'&lﬁﬁ / 2 62130
SC2 mma“ 1 & Ta, T B FLE 6| 85129:163.9 cma2 / 163.9 Jay,
|
82130:173.9 cm2/ 173.9 &4,
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Two identical blocks are placed side | 32077:The one standing on its
by side on a table. One lies on its end /T3P TH X W@,
larger side, and the other stands on :
its smaller end. Which one is 32078:The one lying on the
exerting more pressure on the larger side / Sit 9 HT9T U UsT T,
47 8021 Q24_DGT_May19_W | table? &l AT scllchl Bl Teh Aol W] : 32077
SC2_M TG~ T&T T & T 3 O R 32079:Both exert the same ;
w0 o %, 3 G e B B pressure / &l TATT drd daTaar
@ I ¥ | e9e W i @ 3w gara | 32080:None of these / 33 & dIg
el T 87 o T
82131:Wheel barrow / &t &R,
82132:Common balance / @1HTET
Which of these is an exqmple of a?'iﬂ,
48 20552 gég_DGT_NOVls_W lever cjf third order?ss 3 ¥ i &1 82133:Lemon squeezer / &g 82134
Y 38T & e & SeTeRoT &2
GEIEGEIGI
82134:Human forearm / AEId ®BR
37T,
32081:4 newton persqm / 4
=g gt aof #frex,
12 newton force is exerted on an 32082:40 newton per sq m / 40
area of 3 square cm. Pressure = = Hex
49 8022 Q25_DGT_May19_W .12 =g g1 3 g3t qaf e i ' 32084
sc2
& 87T TX ST AT &1 & = 32083:4000 newton per sq m /
| 4000 =g gfa 91 Ay,
32084:40000 newton per sq m /
40000 =ge ufd g9t #iey,
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50

20553 Q25_DGT_NOV18_W
SC2_M

A body of mass 5 kg is thrown up
vertically with a velocity of 10
metre per second. Kinetic energy of

the body = Ryl )
g &1 AMF 5 fharm. &, 3 10 fex ufa
Yebs T MY T aféeholl HUT thep 1T |
A pEARE S = |

82135:125 Joule / 125 S,

82136:250 Joule / 250 S,

82137:500 Joule / 500 S,

82138:1000 Joul / 1000 SfeT,

82136
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